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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    .

Reg. No. : ......................................   

Name : ...........................................   
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PART – I 
 

A. Answer any 4 questions from 1 to 6. Each carries 1 score.  (4  1 = 4)   

1. Which of the following represents Budget Line Equation ?  

 (a) p1x1 + p2x2 = M (b) p1x1 + p2x2 < M 

 (c) p1x1 + p2x2 > M (d) p1x1 + p2x2  M 

 

2. Which of the following takes the shape of rectangular hyperbola ?  

 (a) Short-run Marginal Cost Curve  

 (b) Short-run Average Cost Curve  

 (c) Average Fixed Cost Curve  

 (d) Average Variable Cost Curve  

 

3. Firms under perfect competition are  

 (a) Price Makers  (b) Price Takers  

 (c) Price Followers  (d) None of these 

 

4. Who is known as the father of Modern Macroeconomics ?  

 (a) Adam Smith  (b) J.S. Mill  

 (c) J.M. Keynes  (d) J.B. Say 

 

5. Which of the following is a stock variable ?  

 (a) Investment  (b) Profit  

 (c) National Income  (d) Money Supply  

 

6. The term ‘Devaluation of Currency’ is associated with  

 (a) Exchange Rate  (b) Interest Rate 

 (c) Inflation Rate (d) Investment Rate 
 

B. Answer all questions from 7 to 10. Each carries 1 score.  (4  1 = 4)  

7. Which of the following represents the value of perfectly inelastic demand ?  

 (a) eD = 0 (b) eD = 1 

 (c) eD > 1 (d) eD =  
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PART – I 
 

A. 1  6    4  .             

1  .   (4  1 = 4)   

1.       
 ?  

 (a) p1x1 + p2x2 = M (b) p1x1 + p2x2 < M 

 (c) p1x1 + p2x2 > M (d) p1x1 + p2x2  M 

 

2.      
 ?  

 (a)     
 (b)     

 (c)      

 (d)      

 

3.    

 (a)    (b)    

 (c)    (d)  

 
4.       ?  

 (a)    (b) . .   

 (c) . . (d) . . 

5.    ?  

 (a)  (b)   

 (c)  (d)    

6.   (Devaluation)     
 (a)    (b)   
 (c)   (d)   
 

B. 7  10    . 1  .  (4  1 = 4)  

7.        
  ?  

 (a) eD = 0 (b) eD = 1 

 (c) eD > 1 (d) eD =  
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8. In a perfectly competitive market with free entry and exit, equilibrium price will always 
be  

 (a) Equal to min AVC (b) Equal to min AC 

 (c) Equal to min MC (d) Greater than min AC 

 

9. Which of the following represents the nature of Average Revenue Curve under 
Monopolistic Competition ?  

 (a) Downward sloping  (b) Straight line parallel to X axis 

 (c) Straight line parallel to Y axis (d) Upward rising 

 

10. GDP (Gross Domestic Product) + NFIA (Net Factor Income From Abroad) = _______ 

 (a) Net National Product (b) Gross National Product 

 (c) Personal Income  (d) Personal Disposable Income   

 

PART – II 

A. Answer any 3 questions from 11 to 15. Each carries 2 scores.  (3  2 = 6)   

11. Distinguish between Cardinal utility analysis and Ordinal utility analysis.  

 

12. Define GDP deflator.  

 

13. Elucidate the market equilibrium. 

 

14. Calculate the value of multiplier if Marginal Propensity to Consume is 0.8.  

 

15. Distinguish between short-run and long-run. 

 

B. Answer any 2 questions from 16 to 18. Each carries 2 scores.  (2  2 = 4)  

16. List any two determinants of a firm’s supply curve.  

 

17. Identify the four factors of production.  

 

18. Complete the following measures of money supply, M1 and M2 :  

 M1 = ___________ + __________ 

 M2 =  ___________ + __________ 
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8.       
.  

 (a)  AVC   (b)  AC   
 (c)  MC   (d)  AC   
 

9.      
   ?  

 (a)  .  
 (b) X    

 (c) Y     

 (d)  . 
 

10. GDP (  ) + NFIA ( 
) = _______ 

 (a)    (b)    

 (c)   (d)      
 

PART – II 
A. 11  15    3  .             

2  .   (3  2 = 6)   

11.      
  .  

 

12. GDP   .  
 

13.    . 
 

14.   0.8    .  

 
15. ,     . 
 

B. 16  18    2  .             

2  .   (2  2 = 4)  

16.       
   .  

 

17.   .   
 

18.      M1, M2  
 :  

 M1 = ___________ + __________ 

 M2 =  ___________ + __________ 
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PART – III 

A. Answer any 3 questions from 19 to 23. Each carries 4 scores.  (3  4 = 12) 

19. Mention any four features of market economy.  

 

20. Explain the functions of Central Bank.  

 

21. Diagrammatically explain the determination of income in a two sector economy.  

 

22. (a) Distinguish between Direct Tax and Indirect Tax.  (2) 

 (b) Classify the following into Direct Tax and Indirect Tax :  

  Income Tax, Goods and Service Tax, Customs Duty, Corporate Tax (2) 

 

23. The diagram given below shows the revenue curves facing monopoly market :  

   

 (a) Name the revenue curves in the diagram.   (1) 

 (b) List any three features of monopoly market.  (3) 

B. Answer any 1 question from 24 to 25. Each carries 4 scores.  (1  4 = 4)   

24. Calculate Net National Product at Market Price (NNPMP) and Net National Product at 

Factor Cost (NNPFC)  

Items ` (in crores)  

Gross National Product at Market Price (GNPMP) 12,000 

Depreciation  1,000 

Indirect Tax 400 

Subsidy  180 

 

25. Draw Long Run Average Cost (LRAC) Curve and Long Run Marginal Cost (LRMC) 
Curve in a single diagram. Identify the relationships between them.  
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PART – III 

A. 19  23    3  .             

4  .   (3  4 = 12) 

19.        .  
 

20.   .  
 

21.        
 . 

 

22. (a)     . (2) 

 (b)      
 :  

  , , ,  . (2) 
 

23.       
  : 

   
 (a)    .  (1) 

 (b)       .  (3) 

B. 24  25    1  .             

4 .     (1  4 = 4)   

24.   (NNPMP)  
 (NNPFC)  .  

 ` ()  

    (GNPMP) 12,000 

 1,000 

 400 

  180 

 

25.   (LRAC)    (LRMC) 
   .    . 
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PART – IV 

A. Answer any 3 questions from 26 to 29. Each carries 6 scores.  (3  6 = 18)   

26. Providing of public goods is one of the important functions of government budget. 

 (a) Distinguish between the characteristics of public goods and private goods with 

two examples each.    (4) 

 (b) Why the providing of public goods is important ?  (2) 

 

27. Price Ceiling and Price Floor are two methods of government intervention in the 

market. Analyse them diagrammatically.  

 

28. By 1990s, most of the economies have shifted from fixed exchange rate system to 

flexible exchange rate system. 

 (a) Identify any two drawbacks of fixed exchange rate system.  (2) 

 (b) Identify any two advantages of flexible exchange rate system.  (2) 

 (c) What do you mean by Managed Floating ?   (2) 

 

29. A production schedule is given below :   

Labour TP MPL APL 

0 0 – – 

1 10   

2 24   

3 40   

4 50   

5 56   

6 57   

 (a) Complete the schedule.  (2) 

 (b) Draw TP, MP and AP curves on a single diagram.  (3) 

 (c) Name the production function associated with the short run. (1) 
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PART – IV 

A. 26  29    3  .             

6  .   (3  6 = 18)   

26.        

 (a)        
 .   (4) 

 (b)       ? (2) 

 

27.       
.      .  

 

28.    1990     
    . 

 (a)      
.    (2) 

 (b)       
.    (2) 

 (c)    (Managed Floating)    
 ?    (2) 

 

29.     :   

 TP MPL APL 

0 0 – – 

1 10   

2 24   

3 40   

4 50   

5 56   

6 57   

 (a)  .  (2) 

 (b) TP, MP , AP    .  (3) 

 (c)     . (1) 
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B. Answer any 2 questions from 30 to 32. Each carries 6 scores.  (2  6 = 12)   

30. (a) Define Price Elasticity of demand.  (2) 

 (b) List any two factors determining price elasticity of demand.  (1)  

 (c) Draw a linear demand curve and mark the points representing eD = 0, eD = 1,     

eD < 1, eD > 1, (3) 

 

31. (a) What do you mean by Cash Reserve Ratio and Bank Rate ? Analyse how these 
tools are used to control money supply in the economy.  (4) 

 (b) Mention any two qualitative tools to control money supply.  (2) 

 

32. (a) Distinguish between Balance of Payment and Balance of Trade.  (2) 

 (b) List the two main accounts in the Balance of Payment.  (1) 

 (c) Identify the three components each of these accounts.  (3) 

 

PART – V 

 Answer any 2 questions from 33 to 35. Each carries 8 scores.  (2  8 = 16)   

33. (a) Define Gross Domestic Product (GDP).   (2) 

 (b) Explain any two methods of calculating Gross Domestic Product (GDP). (6) 

 

34. (a) Identify the features of Indifference curve.   (3) 

 (b) Explain the optimal choice of the consumer by using the tools Budget Line and 
Indifference Curve.    (5) 

 

35. (a) List the features of Perfect Competition.  (2) 

 (b) State the three conditions of profit maximisation of a firm under perfect 
competition in the short run.  (3) 

 (c) Diagrammatically illustrate the profit maximisation conditions.  (3) 

___________  
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B. 30  32    2  .       

6  .   (2  6 = 12) 

30. (a)     .  (2) 

 (b)        
 . (1)  

 (c)      eD = 0, eD = 1, eD < 1, eD > 1  

  . (3) 

 

31. (a)  ,      
 ?   (4) 

 (b)       
.    (2) 

 

32. (a)      .  (2) 

 (b)       .  (1) 

 (c)      .  (3) 

 

PART – V 
 33  35    2  .             

8  .   (2  8 = 16)   

33. (a)    (GDP)  .  (2) 

 (b)   (GDP)    
 .   (6) 

 
34. (a)    . (3) 

 (b)  ,     
  .  (5) 

 
35. (a)    .  (2) 

 (b)      
    .  (3) 

 (c)     .  (3) 

___________  
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